Transfers Report

This report contains the transfers results.

Contest Name	Ward 4 Cardonald
Valid Votes	8,572
Positions to be Filled	4
Quota	1,715

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Ross CHALMERS	Scottish Liberal Democrats	153
Robin DUDFIELD	Social Democratic Party	50
Ellie GOMERSALL	Scottish Greens - Delivering For Our Community	461
Jim KAVANAGH	Glasgow Labour	2,367
Matt KERR	Glasgow Labour	1,236
Elaine MCSPORRAN	Scottish National Party (SNP)	2,489
Stephen PAXTON	Scottish Conservative and Unionist	755
Alexander TORRANCE	Alba Party for independence	189
Alex WILSON	Scottish National Party (SNP)	872
	Total	8,572

Candidate Jim KAVANAGH Elected with 2,367 votes, being in excess of the quota of 1,715 Candidate Elaine MCSPORRAN Elected with 2,489 votes, being in excess of the quota of 1,715

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Elaine MCSPORRAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ross CHALMERS	18	0.31096	5.59728
Transfer to Robin DUDFIELD	11	0.31096	3.42056
Transfer to Ellie GOMERSALL	169	0.31096	52.55224
Transfer to Matt KERR	125	0.31096	38.87000
Transfer to Stephen PAXTON	11	0.31096	3.42056
Transfer to Alexander TORRANCE	71	0.31096	22.07816
Transfer to Alex WILSON	1,943	0.31096	604.19528
No further preference	141	0.31096	43.84536
Not transferred due to rounding			0.02056
	Total		774.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Jim KAVANAGH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ross CHALMERS	35	0.27545	9.64075
Transfer to Robin DUDFIELD	8	0.27545	2.20360
Transfer to Ellie GOMERSALL	31	0.27545	8.53895
Transfer to Matt KERR	1,938	0.27545	533.82210
Transfer to Stephen PAXTON	65	0.27545	17.90425
Transfer to Alexander TORRANCE	38	0.27545	10.46710
Transfer to Alex WILSON	73	0.27545	20.10785
No further preference	179	0.27545	49.30555
Not transferred due to rounding			0.00985
	Total		652.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Surplus of Matt KERR

5			
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ross CHALMERS	176	0.05180	9.11680
Transfer to Robin DUDFIELD	43	0.05180	2.22740
Transfer to Ellie GOMERSALL	138	0.05180	7.14840
Transfer to Stephen PAXTON	164	0.05180	8.49520
Transfer to Alexander TORRANCE	39	0.05180	2.02020
Transfer to Alex WILSON	148	0.05180	7.66640
Transfer to Ross CHALMERS	6	0.01610	0.09660
Transfer to Robin DUDFIELD	2	0.01610	0.03220
Transfer to Ellie GOMERSALL	25	0.01610	0.40250
Transfer to Alexander TORRANCE	5	0.01610	0.08050
Transfer to Alex WILSON	54	0.01610	0.86940
Transfer to Ross CHALMERS	306	0.01426	4.36356
Transfer to Robin DUDFIELD	49	0.01426	0.69874
Transfer to Ellie GOMERSALL	151	0.01426	2.15326
Transfer to Stephen PAXTON	288	0.01426	4.10688
Transfer to Alexander TORRANCE	79	0.01426	1.12654
Transfer to Alex WILSON	185	0.01426	2.63810
No further preference	528	0.05180	27.35040
No further preference	33	0.01610	0.53130
No further preference	880	0.01426	12.54880
Not transferred due to rounding			0.01892
	Total		93.69210

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Robin DUDFIELD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ross CHALMERS	9	1.00000	9.00000
Transfer to Ellie GOMERSALL	2	1.00000	2.00000
Transfer to Stephen PAXTON	3	1.00000	3.00000
Transfer to Alexander TORRANCE	1	1.00000	1.00000
Transfer to Alex WILSON	23	1.00000	23.00000
Transfer to Ellie GOMERSALL	1	0.31096	0.31096
Transfer to Alex WILSON	6	0.31096	1.86576
Transfer to Ross CHALMERS	1	0.27545	0.27545
Transfer to Ellie GOMERSALL	1	0.27545	0.27545
Transfer to Stephen PAXTON	1	0.27545	0.27545
Transfer to Ross CHALMERS	14	0.05180	0.72520
Transfer to Stephen PAXTON	3	0.05180	0.15540
Transfer to Alexander TORRANCE	2	0.05180	0.10360
Transfer to Alex WILSON	1	0.05180	0.05180
Transfer to Ross CHALMERS	11	0.01426	0.15686
Transfer to Ellie GOMERSALL	9	0.01426	0.12834
Transfer to Stephen PAXTON	3	0.01426	0.04278
Transfer to Alex WILSON	2	0.01426	0.02852
No further preference	12	1.00000	12.00000
No further preference	4	0.31096	1.24384
No further preference	5	0.27545	1.37725
No further preference	23	0.05180	1.19140
No further preference	2	0.01610	0.03220
No further preference	24	0.01426	0.34224
Not transferred due to rounding			0.00000
	Total		58.58250

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Ross CHALMERS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ellie GOMERSALL	42	1.00000	42.00000
Transfer to Stephen PAXTON	39	1.00000	39.00000
Transfer to Alexander TORRANCE	6	1.00000	6.00000
Transfer to Alex WILSON	13	1.00000	13.00000
Transfer to Ellie GOMERSALL	2	0.31096	0.62192
Transfer to Stephen PAXTON	2	0.31096	0.62192
Transfer to Alexander TORRANCE	1	0.31096	0.31096
Transfer to Alex WILSON	4	0.31096	1.24384
Transfer to Ellie GOMERSALL	6	0.27545	1.65270
Transfer to Stephen PAXTON	5	0.27545	1.37725
Transfer to Alexander TORRANCE	3	0.27545	0.82635
Transfer to Alex WILSON	3	0.27545	0.82635
Transfer to Ellie GOMERSALL	34	0.05180	1.76120
Transfer to Stephen PAXTON	37	0.05180	1.91660
Transfer to Alexander TORRANCE	5	0.05180	0.25900
Transfer to Alex WILSON	8	0.05180	0.41440
Transfer to Ellie GOMERSALL	2	0.01610	0.03220
Transfer to Alexander TORRANCE	1	0.01610	0.01610
Transfer to Alex WILSON	2	0.01610	0.03220
Transfer to Ellie GOMERSALL	50	0.01426	0.71300
Transfer to Stephen PAXTON	56	0.01426	0.79856
Transfer to Alexander TORRANCE	9	0.01426	0.12834
Transfer to Alex WILSON	10	0.01426	0.14260
No further preference	62	1.00000	62.00000
No further preference	9	0.31096	2.79864
No further preference	19	0.27545	5.23355
No further preference	106	0.05180	5.49080
No further preference	1	0.01610	0.01610
No further preference	192	0.01426	2.73792
Not transferred due to rounding			0.00000
	Total		191.97250

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Alexander TORRANCE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ellie GOMERSALL	33	1.00000	33.00000
Transfer to Stephen PAXTON	20	1.00000	20.00000
Transfer to Alex WILSON	81	1.00000	81.00000
Transfer to Ellie GOMERSALL	10	0.31096	3.10960
Transfer to Alex WILSON	50	0.31096	15.54800
Transfer to Ellie GOMERSALL	4	0.27545	1.10180
Transfer to Stephen PAXTON	2	0.27545	0.55090
Transfer to Alex WILSON	6	0.27545	1.65270
Transfer to Ellie GOMERSALL	7	0.05180	0.36260
Transfer to Stephen PAXTON	1	0.05180	0.05180
Transfer to Alex WILSON	7	0.05180	0.36260
Transfer to Alex WILSON	3	0.01610	0.04830
Transfer to Ellie GOMERSALL	17	0.01426	0.24242
Transfer to Stephen PAXTON	9	0.01426	0.12834
Transfer to Alex WILSON	16	0.01426	0.22816
No further preference	62	1.00000	62.00000
No further preference	12	0.31096	3.73152
No further preference	29	0.27545	7.98805
No further preference	31	0.05180	1.60580
No further preference	3	0.01610	0.04830
No further preference	46	0.01426	0.65596
Not transferred due to rounding			0.00000
	Total		233.41685

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of Ellie GOMERSALL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stephen PAXTON	25	1.00000	25.00000
Transfer to Alex WILSON	315	1.00000	315.00000
Transfer to Stephen PAXTON	6	0.31096	1.86576
Transfer to Alex WILSON	124	0.31096	38.55904
Transfer to Stephen PAXTON	3	0.27545	0.82635
Transfer to Alex WILSON	14	0.27545	3.85630
Transfer to Stephen PAXTON	21	0.05180	1.08780
Transfer to Alex WILSON	34	0.05180	1.76120
Transfer to Stephen PAXTON	4	0.01610	0.06440
Transfer to Alex WILSON	8	0.01610	0.12880
Transfer to Stephen PAXTON	42	0.01426	0.59892
Transfer to Alex WILSON	34	0.01426	0.48484
No further preference	198	1.00000	198.00000
No further preference	52	0.31096	16.16992
No further preference	25	0.27545	6.88625
No further preference	124	0.05180	6.42320
No further preference	15	0.01610	0.24150
No further preference	151	0.01426	2.15326
Not transferred due to rounding			0.00000
	Total		619.10754